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1
NRrhlx<+ ek/;fed f’k{kk eaMy] jk;iqjNRrhlx<+ ek/;fed f’k{kk eaMy] jk;iqjNRrhlx<+ ek/;fed f’k{kk eaMy] jk;iqjNRrhlx<+ ek/;fed f’k{kk eaMy] jk;iqj

gk;j lsds.Mjh lfVZfQdsV ijh{kk o"kZ 2008&09gk;j lsds.Mjh lfVZfQdsV ijh{kk o"kZ 2008&09gk;j lsds.Mjh lfVZfQdsV ijh{kk o"kZ 2008&09gk;j lsds.Mjh lfVZfQdsV ijh{kk o"kZ 2008&09
ekWMy iz’u i=ekWMy iz’u i=ekWMy iz’u i=ekWMy iz’u i=  (Model Question Paper)

d{kk%&d{kk%&d{kk%&d{kk%& 12 oha12 oha12 oha12 oha Class 12th

fo"k;%&fo"k;%&fo"k;%&fo"k;%& lekt 'kkL=lekt 'kkL=lekt 'kkL=lekt 'kkL= Subject:- Socialogy
le;%&le;%&le;%&le;%& 3 ?k.Vs3 ?k.Vs3 ?k.Vs3 ?k.Vs Time:- 3 Hours
iw.kkZ ad%&iw.kkZ ad%&iw.kkZ ad%&iw.kkZ ad%& 100100100100 Maximum Marks :-  100

funsZ’k%&1]funsZ’k%&1]funsZ’k%&1]funsZ’k%&1] iz- Ø- 1 ls 10 rd vfry?kq mRrjh; gS A izR;sd ij 02 vad gS Aiz- Ø- 1 ls 10 rd vfry?kq mRrjh; gS A izR;sd ij 02 vad gS Aiz- Ø- 1 ls 10 rd vfry?kq mRrjh; gS A izR;sd ij 02 vad gS Aiz- Ø- 1 ls 10 rd vfry?kq mRrjh; gS A izR;sd ij 02 vad gS A
Quastion No.1 to 10 are very short answer type quastion. Each

quastion carry 2 marks.

2. iz- Ø- 11 ls 24 rd y?kq mRrjh; gS A iz- Ø- 11 ls 22 rd izR;sd ijiz- Ø- 11 ls 24 rd y?kq mRrjh; gS A iz- Ø- 11 ls 22 rd izR;sd ijiz- Ø- 11 ls 24 rd y?kq mRrjh; gS A iz- Ø- 11 ls 22 rd izR;sd ijiz- Ø- 11 ls 24 rd y?kq mRrjh; gS A iz- Ø- 11 ls 22 rd izR;sd ij
03 vad gS A iz'u Ø- 23 ,oa 24 esa 4&4 vad gS A03 vad gS A iz'u Ø- 23 ,oa 24 esa 4&4 vad gS A03 vad gS A iz'u Ø- 23 ,oa 24 esa 4&4 vad gS A03 vad gS A iz'u Ø- 23 ,oa 24 esa 4&4 vad gS A
Quastion No.11 to 22 are short answer type quastion. Each quastion

carry 3 marks. Quastion No. 23 and 24 are also short types and carries

4 marks each.

3 -3 -3 -3 - iz- Ø- 25 ls 30 rd nh?kZ mRrjh; gS A izR;sd ij 06 vad gS Aiz- Ø- 25 ls 30 rd nh?kZ mRrjh; gS A izR;sd ij 06 vad gS Aiz- Ø- 25 ls 30 rd nh?kZ mRrjh; gS A izR;sd ij 06 vad gS Aiz- Ø- 25 ls 30 rd nh?kZ mRrjh; gS A izR;sd ij 06 vad gS A
Quastion No.25 to 30 long answer type quastion. Each quastion carry

06 marks.

vfr y?kqmRrjh; iz'u &vfr y?kqmRrjh; iz'u &vfr y?kqmRrjh; iz'u &vfr y?kqmRrjh; iz'u &

iz’u 1&iz’u 1&iz’u 1&iz’u 1& vkJe ds izdkjksa dk uke fyf[k;s \vkJe ds izdkjksa dk uke fyf[k;s \vkJe ds izdkjksa dk uke fyf[k;s \vkJe ds izdkjksa dk uke fyf[k;s \

Write the name of 'Ashrams'.

iz’u 2&iz’u 2&iz’u 2&iz’u 2& deZ dk D;k egRo gS \deZ dk D;k egRo gS \deZ dk D;k egRo gS \deZ dk D;k egRo gS \

What is the significance of 'Karma' ?

iz’u 3&iz’u 3&iz’u 3&iz’u 3& tkfr dh dksbZ ,d ifjHkk"kk fyf[k;s Atkfr dh dksbZ ,d ifjHkk"kk fyf[k;s Atkfr dh dksbZ ,d ifjHkk"kk fyf[k;s Atkfr dh dksbZ ,d ifjHkk"kk fyf[k;s A

Write one defination of a cast .

iz’u 4&iz’u 4&iz’u 4&iz’u 4& tkfr dh dksbZ nks fo'ks"krk,a crkb;s Atkfr dh dksbZ nks fo'ks"krk,a crkb;s Atkfr dh dksbZ nks fo'ks"krk,a crkb;s Atkfr dh dksbZ nks fo'ks"krk,a crkb;s A

Write two properties of a cast.
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iz’u 5&iz’u 5&iz’u 5&iz’u 5& ifjokj ds dksbZ ,d ifjHkk"kk fyf[k;s Aifjokj ds dksbZ ,d ifjHkk"kk fyf[k;s Aifjokj ds dksbZ ,d ifjHkk"kk fyf[k;s Aifjokj ds dksbZ ,d ifjHkk"kk fyf[k;s A

Write one defination of a family.

iz’u 6&iz’u 6&iz’u 6&iz’u 6& tutkfr dh dksbZ nks fo'ks"krk,a fyf[k;sa \tutkfr dh dksbZ nks fo'ks"krk,a fyf[k;sa \tutkfr dh dksbZ nks fo'ks"krk,a fyf[k;sa \tutkfr dh dksbZ nks fo'ks"krk,a fyf[k;sa \

Write two properties of sheduled tribe.

iz’u 7&iz’u 7&iz’u 7&iz’u 7& N-x- ds nks izeq[k tu tkfr;ksa ds uke fyf[k;s AN-x- ds nks izeq[k tu tkfr;ksa ds uke fyf[k;s AN-x- ds nks izeq[k tu tkfr;ksa ds uke fyf[k;s AN-x- ds nks izeq[k tu tkfr;ksa ds uke fyf[k;s A

Write the name of two main sheduled tribe in C.G..

iz’u 8&iz’u 8&iz’u 8&iz’u 8& lekt 'kkL= ds v/;;u es a o SKkfud i)fr dh dk sb Z nk s mi;qDrrklekt 'kkL= ds v/;;u es a o SKkfud i)fr dh dk sb Z nk s mi;qDrrklekt 'kkL= ds v/;;u es a o SKkfud i)fr dh dk sb Z nk s mi;qDrrklekt 'kkL= ds v/;;u es a o SKkfud i)fr dh dk sb Z nk s mi;qDrrk

crkb;s Acrkb;s Acrkb;s Acrkb;s A

Write the two applications of methodology in the study of Socialogy.

iz’u 9&iz’u 9&iz’u 9&iz’u 9& lekarj ek/; D;k gS Alekarj ek/; D;k gS Alekarj ek/; D;k gS Alekarj ek/; D;k gS A

What is the mean ?.

iz’u 10&iz’u 10&iz’u 10&iz’u 10& ekf/;dk dk lw= fyf[k;s Aekf/;dk dk lw= fyf[k;s Aekf/;dk dk lw= fyf[k;s Aekf/;dk dk lw= fyf[k;s A

What is the formula of mean ?

y?kqmRrjh; iz'u &y?kqmRrjh; iz'u &y?kqmRrjh; iz'u &y?kqmRrjh; iz'u &

iz’u 11&iz’u 11&iz’u 11&iz’u 11& xkao dh dksbZ rhu fo'ks"krk,a crkb;s Axkao dh dksbZ rhu fo'ks"krk,a crkb;s Axkao dh dksbZ rhu fo'ks"krk,a crkb;s Axkao dh dksbZ rhu fo'ks"krk,a crkb;s A

Write the three properties of a village.

iz’u 12&iz’u 12&iz’u 12&iz’u 12& N-x- esa iyk;u dh dksbZ rhu dkj.k fyf[k;s \N-x- esa iyk;u dh dksbZ rhu dkj.k fyf[k;s \N-x- esa iyk;u dh dksbZ rhu dkj.k fyf[k;s \N-x- esa iyk;u dh dksbZ rhu dkj.k fyf[k;s \

Write the three eanses ofescape in C.G. ?

iz’u 13&iz’u 13&iz’u 13&iz’u 13& ifjokj dh dksbZ rhu dk;Z dks fyf[k;s Aifjokj dh dksbZ rhu dk;Z dks fyf[k;s Aifjokj dh dksbZ rhu dk;Z dks fyf[k;s Aifjokj dh dksbZ rhu dk;Z dks fyf[k;s A

Write the three works of a family.

iz’u 14iz’u 14iz’u 14iz’u 14 tu tkfr; ifjokj dh dksbZ rhu leL;k,a fyf[k;s \tu tkfr; ifjokj dh dksbZ rhu leL;k,a fyf[k;s \tu tkfr; ifjokj dh dksbZ rhu leL;k,a fyf[k;s \tu tkfr; ifjokj dh dksbZ rhu leL;k,a fyf[k;s \

Write the three problem of a sheduled tribe family.

iz’u 15&iz’u 15&iz’u 15&iz’u 15& tu tkfr; vkanksyu ds izeq[k rhu dkj.kksa dks fyf[k;s \tu tkfr; vkanksyu ds izeq[k rhu dkj.kksa dks fyf[k;s \tu tkfr; vkanksyu ds izeq[k rhu dkj.kksa dks fyf[k;s \tu tkfr; vkanksyu ds izeq[k rhu dkj.kksa dks fyf[k;s \
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What are the main causes of sheduled tribe movement ?

iz’u 16&iz’u 16&iz’u 16&iz’u 16& Hkz"Vkpkj ds izeq[k rhu dkj.kksa dks fyf[k;s AHkz"Vkpkj ds izeq[k rhu dkj.kksa dks fyf[k;s AHkz"Vkpkj ds izeq[k rhu dkj.kksa dks fyf[k;s AHkz"Vkpkj ds izeq[k rhu dkj.kksa dks fyf[k;s A

Write the three main eacses of corruption.

iz’u 17&iz’u 17&iz’u 17&iz’u 17& czEg lekt dh dksbZ rhu izeq[k mn~ns'; crkb;s AczEg lekt dh dksbZ rhu izeq[k mn~ns'; crkb;s AczEg lekt dh dksbZ rhu izeq[k mn~ns'; crkb;s AczEg lekt dh dksbZ rhu izeq[k mn~ns'; crkb;s A

What are the three main aims of 'Bramha Samaj' ?

iz’u 18&iz’u 18&iz’u 18&iz’u 18& oSKkfud i)fr dh izeq[k rhu fo'ks"krk crkb;s AoSKkfud i)fr dh izeq[k rhu fo'ks"krk crkb;s AoSKkfud i)fr dh izeq[k rhu fo'ks"krk crkb;s AoSKkfud i)fr dh izeq[k rhu fo'ks"krk crkb;s A

What are the three main properties of methodology ?

iz’u 19&iz’u 19&iz’u 19&iz’u 19& voyksdu dh dksbZ nks ifjHkk"kk nhft;s  Avoyksdu dh dksbZ nks ifjHkk"kk nhft;s  Avoyksdu dh dksbZ nks ifjHkk"kk nhft;s  Avoyksdu dh dksbZ nks ifjHkk"kk nhft;s  A

Give two definitions of the Observation.

iz’u 20&iz’u 20&iz’u 20&iz’u 20& iz'ukoyh dks ifjHkk"kk nhft;s A rFkk dksbZ rhu fo'ks"krk,a crkb;siz'ukoyh dks ifjHkk"kk nhft;s A rFkk dksbZ rhu fo'ks"krk,a crkb;siz'ukoyh dks ifjHkk"kk nhft;s A rFkk dksbZ rhu fo'ks"krk,a crkb;siz'ukoyh dks ifjHkk"kk nhft;s A rFkk dksbZ rhu fo'ks"krk,a crkb;s

Give the definition of Questionaire. Write it's three properties.

iz’u 21&iz’u 21&iz’u 21&iz’u 21& iz'ukoyh ,oa vuqlwph esa dksbZ rhu varj fyf[k, Aiz'ukoyh ,oa vuqlwph esa dksbZ rhu varj fyf[k, Aiz'ukoyh ,oa vuqlwph esa dksbZ rhu varj fyf[k, Aiz'ukoyh ,oa vuqlwph esa dksbZ rhu varj fyf[k, A

Write the three differences between questionaire and Shedule.

iz’u 22&iz’u 22&iz’u 22&iz’u 22& lkaf[;dh dk dksbZ rhu mi;ksfxrk crkb;s Alkaf[;dh dk dksbZ rhu mi;ksfxrk crkb;s Alkaf[;dh dk dksbZ rhu mi;ksfxrk crkb;s Alkaf[;dh dk dksbZ rhu mi;ksfxrk crkb;s A

Write three uses of Statistics.

iz’u 23&iz’u 23&iz’u 23&iz’u 23& ukrsnkjh ds izdkjksa dks fyf[k;s Aukrsnkjh ds izdkjksa dks fyf[k;s Aukrsnkjh ds izdkjksa dks fyf[k;s Aukrsnkjh ds izdkjksa dks fyf[k;s A

What are the types of relationship ?

iz’u 24&iz’u 24&iz’u 24&iz’u 24& lk{kkRdkj ds 5 egRo dks fyf[k;s Alk{kkRdkj ds 5 egRo dks fyf[k;s Alk{kkRdkj ds 5 egRo dks fyf[k;s Alk{kkRdkj ds 5 egRo dks fyf[k;s A

Write the five significacance of Interview.

nh?kZ mRrjh; iz'unh?kZ mRrjh; iz'unh?kZ mRrjh; iz'unh?kZ mRrjh; iz'u

iz’u 25&iz’u 25&iz’u 25&iz’u 25& ^^Hkkjrh; lekt esa vusdrk esa ,drk gS A** Li"V dhft;s A^^Hkkjrh; lekt esa vusdrk esa ,drk gS A** Li"V dhft;s A^^Hkkjrh; lekt esa vusdrk esa ,drk gS A** Li"V dhft;s A^^Hkkjrh; lekt esa vusdrk esa ,drk gS A** Li"V dhft;s A
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"There is unity after the distinetness in the Indian society". Explain it.

iz’u 26&iz’u 26&iz’u 26&iz’u 26& Hkkjr esa vuqlwfpr tkfr dh leL;k,a crkrs gq, buds fujkdj.k ds mik;Hkkjr esa vuqlwfpr tkfr dh leL;k,a crkrs gq, buds fujkdj.k ds mik;Hkkjr esa vuqlwfpr tkfr dh leL;k,a crkrs gq, buds fujkdj.k ds mik;Hkkjr esa vuqlwfpr tkfr dh leL;k,a crkrs gq, buds fujkdj.k ds mik;

crkb;s Acrkb;s Acrkb;s Acrkb;s A

Explain about the problems and their solution of sheduled cast in India.

iz’u 27&iz’u 27&iz’u 27&iz’u 27& N-x- esa uDly okn dh leL;kvksa dk o.kZu dhft;s AN-x- esa uDly okn dh leL;kvksa dk o.kZu dhft;s AN-x- esa uDly okn dh leL;kvksa dk o.kZu dhft;s AN-x- esa uDly okn dh leL;kvksa dk o.kZu dhft;s A

Explain the problems in C.G. due to ternorpsm.

iz’u 28&iz’u 28&iz’u 28&iz’u 28& N-x- esa dchj iaFk ,oa lruke iaFk ij laf{kIr fVIi.kh fyf[k;s AN-x- esa dchj iaFk ,oa lruke iaFk ij laf{kIr fVIi.kh fyf[k;s AN-x- esa dchj iaFk ,oa lruke iaFk ij laf{kIr fVIi.kh fyf[k;s AN-x- esa dchj iaFk ,oa lruke iaFk ij laf{kIr fVIi.kh fyf[k;s A

Write short notes on 'Kabir Panth' and 'Satnam Panth' in C.G.

iz’u 29&iz’u 29&iz’u 29&iz’u 29& oS;fDrd v/;;u ds izeq[k lk/kuksa dk o.kZu dhft;s AoS;fDrd v/;;u ds izeq[k lk/kuksa dk o.kZu dhft;s AoS;fDrd v/;;u ds izeq[k lk/kuksa dk o.kZu dhft;s AoS;fDrd v/;;u ds izeq[k lk/kuksa dk o.kZu dhft;s A

Explain about the main sources of personal study.

iz’u 30&iz’u 30&iz’u 30&iz’u 30& lk{kkRdkj fof/k ds xq.kksa dk o.kZu dhft;s Alk{kkRdkj fof/k ds xq.kksa dk o.kZu dhft;s Alk{kkRdkj fof/k ds xq.kksa dk o.kZu dhft;s Alk{kkRdkj fof/k ds xq.kksa dk o.kZu dhft;s A

Explain the properties of Interviev Method.

--------X--------


